




 
Is Tiny correct? 

 
  1) 
 
 
  2) 
 
 
  3) 
 
 
  4) 
   

I have 4 £1 coins 

I have three 1p coins 
and one 10p coin 

2 £10 notes = 1 £5 note 

= 

= 

Five £1 coins are equal 
to one £5 note 
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I’d like 27p please 

Here’s 27p 

Here’s 27p 

Here’s 27p 

Have a think 



Have a go at questions  
1 and 2 on the 

worksheet 



£32 and 64p 

Have a think 



Have a go at questions  
3 – 6 on the worksheet 



Which one doesn’t belong? 

Have a think 



Have a go at question 7 
on the worksheet 


